

۱۷/ اسمت پیدا کنید با افاف این بار او در

$$f(x) = \begin{cases} \cot \frac{\pi x}{4} ; x \leq 1 \\ \sqrt{x^2 + 1} ; x > 1 \end{cases}$$

$f(\frac{1}{2}) = \cot \frac{\pi}{8} \Rightarrow \frac{1}{2} = \frac{1}{\sqrt{2}} \Rightarrow \cot(\frac{\pi}{8}) = \sqrt{2}$ ✓

$f(\sqrt{2}) = \sqrt{2^2 + 1} = \sqrt{5}$ ✓

الف) $f(\frac{1}{x}) = \sqrt{\frac{2x-1}{x^2}}$ $\frac{1}{x} = + \frac{2x-1}{x^2} - \frac{1}{x} = -\frac{1}{x^2} \rightarrow \frac{2x-1}{x^2} = 2 + \frac{1}{x^2}$ ✓

$f(x) = \sqrt{2x - x^2}$ $f(1) = \sqrt{2 \cdot 1 - 1^2} = 1$ ✓

$g(x) = 2 \cos^2 x$

$\hookrightarrow g(\frac{\pi}{2}) = \frac{1}{2} \rightarrow f(\frac{1}{2}) = \sqrt{1 - \frac{1}{4}} = \frac{\sqrt{3}}{2}$ ✓

ب) $f(x) = [x]$ و $g(x) = \frac{x}{1-x}$ $g(\sqrt{2}) = \frac{\sqrt{2} \times (1+\sqrt{2})}{1-\sqrt{2} \times (1+\sqrt{2})} = \frac{\sqrt{2} + 2}{1-2} = -\sqrt{2} - 2$

$f(-\sqrt{2} - 2) = [-\sqrt{2} - 2] = -3$ ✓

$f(x) = \sin x$ و $g(x) = x \sqrt{1-x^2}$

$f(\frac{\pi}{2}) = \frac{\sqrt{2}}{2} \rightarrow g(\frac{\sqrt{2}}{2}) = \frac{\sqrt{2}}{2} \times \sqrt{1 - \frac{1}{2}} = \frac{\sqrt{2}}{2} \times \frac{1}{\sqrt{2}} = \frac{1}{2}$ ✓

$g(x) = \{(f, 2), (2, f), (f, 1), (1, f)\}$

$f(x) = \{(f, 2), (2, f), (1, 2), (2, 1)\}$

الف) $f \circ g(x) = \{(f, 2), (2, f), (2, 1), (1, 2)\}$ ✓

ب) $g \circ f(x) = \emptyset$ ✓

ج) $f \circ f(x) = \emptyset$ ✓

د) $g \circ g(x) = \{(f, 1), (1, f), (2, 1)\}$ ✓

$f \subseteq \{(2, 1), (1, 2), (f, 2), (2, f)\}$ و $g = \{(1, 2), (2, 1), (a, 2), (b, 1)\}$

$(f, 2) \in f \circ g \rightarrow g(f) = 2 \rightarrow f(2) = 2 \rightarrow a = f$ ✓

$(f, 1) \in g \circ f \rightarrow f(f) = a \rightarrow g(a) = 1 \rightarrow b = a$ ✓

$f(f(x)) = fx + 2$ و $ax + b$

$f(f(x)) = a(ax + b) + b$ $ax^2 + ab + b = fx + 2 \rightarrow a = \pm 2$

$f(f(x)) = ax^2 + ab + b$ I) $a = 2 \rightarrow b = 1 \rightarrow f(x) = 2x + 1$

$g(2x + 2) = 2x - 2$ II) $a = -2 \rightarrow b = -2 \rightarrow -2x - 2$

وی در هر صورت آنگاه می توانیم بنویسیم

$f(-1) = -1 \rightarrow 2x + 2 = -1 \rightarrow x = -\frac{3}{2} \rightarrow g(-\frac{3}{2}) = -1$ ✓

$$f(x) = \sqrt{x+|x|}, g(x) = \frac{1}{x^2 - 1} \quad D_{g \circ f} = ?$$

$$D_{g \circ f} = \{x \in D_f, f(x) \in D_g\}$$

$$D_{g \circ f} = ?$$

$$f(x) \neq 0 \rightarrow x > 0 \quad (1)$$

$$f(x) \neq 1 \rightarrow x \neq 1 \quad (2)$$

$$D_f = x+|x| \geq 0$$

$$D_f = \mathbb{R}$$

$$[x \in \mathbb{R}, f(x) \in f - \{0, 1\}] \rightarrow D_{g \circ f} = \mathbb{R} - \{0, 1\}$$

$$D_f = \mathbb{R} - \{0, 1\}$$

$$D_{g \circ f} = (0, +\infty) - \{1\}$$

$$f(x) = \sqrt{1-x^2}, g(x) = \sqrt{x} \quad D_{(f+g) \circ f} = ?$$

$$-1 \leq x \leq 1$$

$$x \geq 0$$

$$D_{(f+g) \circ f} = [-1, 1]$$

$$D_{(f+g) \circ f} = [x \in D_f, f(x) \in D_{(f+g)}]$$

$$1-x^2 \geq 0 \rightarrow 1 \geq x^2 \rightarrow 1 \geq x \geq -1 = D_f$$

$$[x \in [-1, 1], f(x) \in D_{(f+g)}]$$

$$D_{f+g} = D_f \cap D_g : 0 \leq x \leq 1$$

$$\sqrt{1-x^2} + \sqrt{x}$$

$$0 \leq f(x) \leq 1 \rightarrow x^2 \geq 0 \checkmark \text{ برقرار } (2)$$

$$f\left(\frac{r_{n+1}}{n-r}\right) = f_n + d$$

$$\frac{r_{n+1}}{n-r} = a$$

$$n = \frac{r_{n+1}}{a-r} \quad \text{دقت!}$$

$$-9$$

$$(1, \sqrt{5})$$

$$f(a) = f\left(\frac{r_{n+1}}{a-r}\right) + d \rightarrow f(n) = \frac{r_{n+1}}{a-r} + d \rightarrow \frac{f_n + f + da - 1d}{a-r} = \frac{f_{n+1}}{a-r}$$

$$f(x) = \frac{rx-1}{x-r}$$

$$f\left(x + \frac{1}{n}\right) = \frac{rx + \frac{r}{n} - 1}{x + \frac{1}{n} - r}$$

$$x + \frac{1}{n} = a \quad f(a) = \frac{ra - 1}{a-r}$$

$$\left(x + \frac{1}{n}\right)^r = x^r + \frac{1}{n^r} + r\left(x + \frac{1}{n}\right)^{r-1}$$

$$f(x) = \frac{rx - 1}{x-r} \checkmark$$

$$\frac{r}{n^r} + \frac{1}{n^r} = \frac{\left(x + \frac{1}{n}\right)^r - r\left(x + \frac{1}{n}\right)^{r-1}}{a^r - r_a}$$

$$g \circ f(n) = 0$$

$$y=0 \begin{cases} \rightarrow n=2\sqrt{2} \rightarrow n\sqrt{n}=2\sqrt{2} \rightarrow n=2 \checkmark \\ \rightarrow n=1 \rightarrow n\sqrt{n}=1 \rightarrow n=1 \checkmark \end{cases}$$

(1, 2) 10

$$\text{اختلاف} \rightarrow 2-1 = 1$$